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N1°21 said, from the 102 itself we know that you cannot say

OVERVIEW

¥"7 (and 01’ ") derive from the 2°p105 that a @ 22X can be 1pwn Xawn and a apwn
1w can be 1921 Xnwn. The Xmx asked that perhaps a *1w 1pwn can be Xxvn only
1Pwn (but not PYIR). X1°21 responded that from the 2’105 from which we derive
that a "J¥ can make a >°5w we can also derive that 72 RX1D JwW 80 PR (the
aPwn cannot be Ppwn Xnon). Our MdOIN clarifies the proof of X120,
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For if it enters your mind that X»v° in this P05 teaches us that this 7pwn can be
PPWR DRI Xy, the P10 should write X%2ws only once, why do we need X»v to
be written twice, obviously it comes -
113 NYD VI ANV PRY S0Py
To exclude that 772 X210 72 N2 PN

SUMMARY
The repeated use of v teaches us that 772 RX1°2 WY ARMIV PX.

THINKING IT OVER
1. What is moon adding to what the x1m3 states?!’

2. Why cannot we say that since it says twice &nv> they must be 7277 two different
things (1pwn for 9218 and P22IX for npwn); otherwise why say it twice?

! See 0"~ that this Moo is one with (and a continuation of) the previous X 7"7 Mmoo, See “Thinking it over'# 1.
* The P09 in 72,8° (1nw) Xp7 (after telling us that if a 2w falls into a 9771 %2, the 971 *93 is Xnv continues and)
states; Ruw? 73 922 InY WK TRWR 92) RpwY D0 1LY R WK PR WK 29K7 31, The word Xnw is interpreted as if it
is written Xnp°, meaning that the 921X (or the npwn) which is a *1w (because it was in the *73 [a 1Ww&1] which touched a
YW [ARmL7 2X]) can be Xhvn something else making that a *w°2w. However we must assume that the Xp> of the 9%
means it can be 1"pwn Xnwun and the X»Y> of the Apw» can be Xnun only PR,

? The pi02 should read Xnw> 293 "1 7pwWH 221 2 "3 22387 221 (one time X»w). We would then know that just as by
99X the &nw> refers to Ppwn since 721X XHwA 92 X (which we derive from X177 Xnv [see previous X7 7"7 '01n (TIE
footnote # 8)]), the same applies to 7ipwn that it can only be 1pwn Xnwvn.

* There is a rule that LY?% X5K M7 AR M2 1°R; that two 121 which follow one another come to exclude. Therefore
the first »12>7 (of Rnw> Xnw*) teaches that YR can be Ppwn Ravy, the second 127 (of XnY> XAW’) comes to exclude
that Ppwn cannot be Ppwn Rnvn (they can only be 122X Xnun). See (T1IRT) R"wAnn. See “Thinking it over” # 2.

> See HXIMW 127
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